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; 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
ZznLst 1.00 1 000 ~ 499 6218 | =nLs | 000 ~ 499 1.83 9.78 Zzh s 1.00 | 5.00 ~ 56.40 6218 | =nLs | 5,00 ~ 540 1.83 9.78
2 100kN/mM#%#8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#8Z % — -~ — — |3m%i#BZ % -~ — — —
Zhnst 1.00 | 0.00 ~ 577 7211 | =05 | 000 ~ 5771 1.91 10.24 zh st 1.00 | 5.00 ~ 6.87 7211 | =ns | 600 ~ 6.87 ] 1.91 10.24
3 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
Zhs 1.00 | 0.00 ~ 667 84.16 | Fhst | 000 ~ 000|171 9.16 ZnLlst 1.00 | 5.00 ~ 8.07 84.16 | #ns | 500 ~ 807|171 9.16
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 | 0.00 ~ 6.88 8711 | #hdst | 0oo ~ 688|172 9.23 Zzh st 1.00 | 5.00 ~ 848 87.11 | #hst | 6.00 ~ 848|1.72 9.23
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
zhnst 1.001 000 ~ 647 81.49 | #nldst | 000 ~ 647]1.93 10.32 ZThLLst 1.00 | 500 ~ 822 81.49 | TnS | 5.00 ~ 822|193 10.32
6 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 ] 000 ~ 469 5846 | #ns | 0oo ~ 469]1.83 9.79 ZThLLst 1.00 | 5.00 ~ 5.00 5846 | TnUS | 5.00 ~ 5.00 | 1.83 9.79
100kN/mM#%# 8% % ~ ImEHBZD ~ 100kN/mM#E#BZ % ~ 3mEHBAS ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ 5 ~ ImEHEAZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~

iy
H
|



